ER-IERRREE-RR

SHTEs 2B RE
HEXEE ZEMASRE

T I T X ZEE
IEEEET — R X JtER
TETHEEF O [JLrRER
X7 (BKE) RER=EHEE |16
(EWKE) |TERSEHEE |-
SIS TREEKREE |SRH)EE=207, SB)IFHE=9.2, EW)Fi5=134, T&E)IFE=3.4
#K e =
s f‘gggg!g*ﬁﬁ KFI £ AR
R E 5 EE 20m/s
ZAE EHRE 20m/s FEHED
AE BFEDES 1285 E DFES10cm
KR E )
B i _
X7 RENEEHEE |8
TIERMEEHERE 160
SR EEREE |SR)RE=165 SB)IFE=7.3, BHE)IFE=107, tE)IFKBE=2.6
ok P2 -
EEAIHEKFEHR |
IZkBEHE
E3ED EHRE 12m/s
AE EHRE 12m/s EFH#FS
AE BEEDRS 1285 EEE D iFES5cm
KR GEY T
EER =i AL
£ EEFICKYBEENTEINSEE
BE
BB 1812 [100m
BrI% B/INEE40% TEBE65%
g BEDREEA50ecmEHYBETRI10°CLLE RIZAEY DIER *°
KR BESE-5°CUT*®
B BaEHl RIEKBE1CUT
&K
= 245 MBI E DFES  FHh20cml £
SiR:-2°C~2°C
ECERMIE SR KRR 1S [100mm

REREEY AEFEREY OMAShEICLIREBEERLTVET,

*? SERERARREDIE,

*3 =13

KEBERIRRHARREDIE,



